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AfL Checkpoint task - 5.03
Task 1: Robbie’s Dilemma
Robbie needs to raise £350 towards his season ticket.

He earns a set monthly wage of £25 from his paper round.

Will he be able to afford it at the end of the year, after the following series of events?
1. January:
Robbie gets 10% extra for referring a new customer.
2. February:
Robbie is ill and loses 20% of his pay.
3. March:
Robbie spends 15% of his pay on a birthday present.
4. April:
Robbie picks up extra hours and earns 35% more.
5. May:
Robbie gets a permanent 20% pay rise.
6. June:
Robbie spends 8% of his pay on downloading music.
7. July:
Robbie gets a 13% bonus for delivering extra leaflets.
8. August:
Robbie earns 45% more for extra hours, but then spends 15% of his pay on clothes.
9. September:
Robbie spends 8% on downloads, then 18% of what is left on a present.
10. October:
Robbie is getting worried so he does more hours to earn 37% more.
11. November:
Robbie spends 5% on his mum, 7% on his dad and 3% on his sister from his monthly pay for Christmas.
12. December:
Robbie gets a monthly pay rise of 3% and does extra hours at this new rate to earn 20% more.
Task 2: Mary’s Investment
Mary has recently inherited £12 340.

She wants to invest the money for five years and is considering her investment options.

How much would each of the following give her at the end of five years?
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Which would make her the most money?


2. Bank of Epsilon


Invest the first £10 000 at 4.5% and 3.7% thereafter.





1. Bank of Pi


Invest at an interest rate of 4.3%.





3. Alpha Bank


Invest for the first year at 5.6% and then at 3.8%.





6. Beta Bank


Invest with us and we will give you a standard interest rate of 3.95% and a 3% lump sum bonus on your initial deposit at the end of year five.





5. TEMPTATION


Buy a new car!!


Spend all the money but you would lose 8% on the value during the first year and 5% each year thereafter.





4. Share Save


We promise to turn your £12 340 investment into £15 000 over five years. What set interest rate is required?





8. Bank of Doubling


You can only invest here at 7.6% if you are willing to wait until your money has doubled before you withdraw it.


Is this doable in the five year plan?





7. Diversify


Invest half in Alpha and half in Beta.





9. Bank of Rising %


Year 1 = 2%


Year 2 = 3%


Year 3 = 4%


Year 4 = 5%


Year 5 = 6%
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